| BEREEOSMSE (MEMR) |/

20224E98 & B SHFPS

MR B BRI |12 KD, 20229 B P DERHE DRI,
20224F4 8 ~202246 B OB F OBEBEHERICLEDETHEELELEO TEFORNBEBHLEV-LET,

[ F5a3A B iffi ) METEICHANSE BT (FiA)
R B B
EEHBOBEH +6.50 F/kwh | 1B E 8 0.232 F/kWh
EEHBORER +6.27 M/kwh BT 0.224 F/kWh
S EERADOBSER +6.19 M/kwh 5 31 S I AR 0.221 F/kWh

MM BERBEML. UTOESYEESNET

BEXHELDIES TR BB A A PR
PRE BB M=( 72,200 — 44200 ) X 0.232 = 1000 = ++6.50
BEXHL0ES FAIPR S H AP A B PR B
P EREREM=( 72200 - 44200 ) X 0.224 = 1,000 = +6.27
R EERADES TP T PR e 88 B
PRE BB M=( 72,200 — 44200 ) X 0.221 = 1000 = ++6.19
[ 5% Hhe B 4 ) XEE(CHDEEE B (Fiik)
b3 SR g ii] % 4]
SERBOEER +5.70 FA/kWh EERA 0.204 F/kWh
BHAHSEHBDEER| +5.63 A/kwh 45 57 E 444 0.201 F/kWh

MEEHRBEIETBABMO=HEH L

I ERAEEML. UTOESYEESNET

BXHL0ES TAIPRH S HEPREHTS B PR R B
PRE BB M=( 72,200 — 44200 ) X 0.204 =~ 1000 = <4570

A EERADES TP HAEPRT A PR BT B
PRE BB M=( 72,200 — 44200 ) X 0.201 =~ 1000 = ++5.63

BE.EEITHVSIEERBER  OBESIVEERICOEELTUL. UTDESYEL>TEYETS,

HAERBHEE PR FHEAE
(201241 ~20124318) 2022448 ~202246 R
4 RGBS 57,802 A/kL 88,732 A/kL
NG 67,548 A/t 101,844 M/t
FEH A RAMmE 11,452 M/t 38,217 M/t
R FHE A 44,200 F/kL 72,200 H/kL
EHRPEEOEES &

Y PRBHIAS = F B EH M X o +FHLNGHE x 8 +FH B R@iE X v

a: 0.197

B: 0.4435

7 0.2512

U E



